I PR 2 2P AR — S A R 2R (3) Punishment children’s development.
(IE)Y W4 3 GEHIEY: ) (4) Some children (B ANEFIEI)  watching TV.
1. Fill in the blank with the right form of the verb given. (5) Some people in Africa BET YD every year.
(1)He studied the map (see) whether he could find the best way to the (6) The doctor advised him to TR
forest. (7) That actor married twice (FEAR I —H )
(2) Children should not be allowed (play) with fire. (8) The doctor told him (HH)  because of
(3) What makes you (look) so excited. his heart disease .
(4)He has decided (attend)Harry’s birthday party. (9)1It is very useful CBRIEARAD .
(5) It would be a great pity (not listen)to his lecture. (10) It is said that tigers often come out after dark (_fnziy O.
(6) The old lady felt happy because she had a girl (look after)her. (11) 1am very pleased AT 20 8 B3 43 I A1) 38T 0
(7)It is important for the young people (have) something MPRIKIE D
(do). (12) The problem is that she (BRI 2% 2 Bl L
(8)I wonder whether she has got enough milk (feed)her body . JL)  every day
(9) My suggestion is (do) whatever you can do for him. 2. Choose the best answer for each blank to complete the following sentences .
(10) I’'m very happy (be)here with you this evening. (1) His wife used to a lot of money clothes .
(11)  After he worked for a while ,he stopped (drink) a cup of tea. A . cost,on B. spend , on C cost, in D spend, in.
(12)  Mr Smith warned his son (never drive ) after drinking. (2) You’d better your lost wallet to the police ,or they will not be able to help
2. Put the Chinese in the brackets into English to complete each of the following sentences. you .
(1) The children under the age of 15 (AR A describe B speak C say D write
537D in that country. (3) Mr Pattis to give a talk on computer yesterday .
(2) The villagers (BOEHEIT THKZ) . A invited B invites C isinvited D was invited




(4) The old lady doesn’t live here : (13) The careless boy often puts his things in his bedroom .
A Any more B anylong C for any more D for any long Aonebyone B  hereandthere C hereorthere D anywhere
(5)There is a sign on the office door ,which “DO NOT ENTER™. (14) After arain I like to go out forawalkand ~ in the fresh air .
A said B says C is said D  saying A bring B take C breathe D smell
(6)Broken glass is often the cause a big forest fire . (15) Teachers’ words have great effects their students’ development .
A of B for C with D in Ain B with C on D to
(7) Our teacher never forces us what we don’t like to . (16) Many people heart diseases every year .
A do B todo C doing D done A diecof B aredieof C arediedby D die by
(8)Though he had often made his little sister stoday he was made | 3. Choose the best answer for each blank to complete the passage .
by his little sister. About 48 millon people in the United States smoke . And about 480 billion
A tocry cry B cry to cry C crying crying D cry are smoked each year . Until the 1940s ,smoking to be
cry harmless ,but some research has proved that smoking is to health .
(9) Watching TV for a long time is your eyes . They have shown that smoking heart disease by 40 percent among men and
A harm to B harmful to C harm with D harmful with 60 percent among women .If smokes before she gives birth to her baby ,
(10) He bought a car at a low price yesterday . the baby will be smaller than others after it And an illness in
Atwohands B twicehand C secondhand D second hand blood it will probably die an early age .
(11) Children are not to swim in the river .
Aallow B allowed C let D want Now more and more young people smoke in the United States . More than 70 percent of
(12)Tom kept silent about the accident lose his job . the smokers begin smoking before the of 18.0nce they get into the habit
of smoking , it will be very for them to give it up . So this habit may
A sonotasto B soasnotto C soastonot D notsoasto continue all their lives




(1) A money B dollars C cigarettes D men

(2) A thinks B is thought C was thought D thought

(3) A harm B harmless C harmful D harmed
(4) A makes B causes C Dbecause D caused

(5) A a father B amother C  parents D aparent
(6) Ais born B was born C Dbore D bores

(7) A because B because of C cause D because for
(8) Ain B at C with D for

(9) A year B age C years D ages

(10) A easy B difficult C hardly D difficultly

1.At the Barber's Shop(F &)%)
Jack went to a barber's shop and had his hair cut, but when he came out, he
was not happy with the result(455). When his friend Bob saw him, he laughed
and said, "What has happened to your hair,Jack?"
Jack said, "I tried a new barber's shop today, because I wasn't quite satisfied
with my old one, but this one seems even worse."
Bob agreed([7]&). "Yes, I think you're right, Jack. Now I'll tell you what
to do when you go into a barber's shop next time: look at all the barber's hair,

find out whose hair looks worst, and then go straight to him."

"Why shall 1 go to him?" Jack asked. "But that would be foolish!"

"Oh, no, it wouldn't,” answered Bob. "Who cut that man's hair? Just think
it. He couldn't cut it himself, could he? Another of the barbers cut it. So

you know he can't be the worst barber."

1. When Jack went out of the barber's shop, he was not happy because
nobody had cut his hair
the barber hadn't cut his hair well

the barber had cut his hair carefully
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he was not satisfied with his old barber

'
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'l tried a new barber's shop today." means
this barber's shop was a new one
this was the only barber's shop in this town

Jack often went to this barber's shop
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Jack had not been to this barber's shop before

3. After Jack had his hair cut, he thought .

A. the new barber's shop was the best one

B. the old barber's shop wasn't so good as the new one

C. the new barber's shop was worse than the old one

D. the old barber's shop was the worst one

4. Bob told Jack to find out which barber's hair looked the worst and then go strai

ght to him. Why?



A. Because he was certainly the best barber.
B. Because he was free all the time.

C. Because he was the worst barber.
D

. Because he wasn't the worst barber.

9,

From the story we know that .

A. it's foolish to have one's hair cut at a barber's shop

B. barbers cut each other's hair

C. barbers never have their hair cut

D. a barber always cuts his hair by himself

2. Mr Perkin's New Car

Mr Perkin stood at the bus-stop and watched the cars go by. Many of the cars
were new Beta 400s, and most of them were yellow. Mr Perkin always wore the
same clothes as other men, ate the same food as other people, and did the same
things after work, and at the end of the week, Mr Perkin did not like to be
different.

The following week, Mr Perkin bought a new, bright yellow Beta 400s. He was
satisfied with it, and drove to work in it the very next day. He was even more
satisfied with his new car, when he saw all the other Beta 400s, in front, behind,
and on both sides of him.

Mr Perkin parked(f5%4%) his car in a big car-park({$%4-3%) near his office,

and walked the rest of the way. But when he came back at five o'clock, there

were so many bright yellow Beta 400s in the car-park that he did not know which
car was his. He tried his key in some of the cars, but people passing by gave
him a look he didn't like. So he stopped.

Poor Mr Perkin had to wait nearly two hours until his was the only yellow

Beta 400s in the car-park.

1. Mr Perkin wanted a new yellow Beta 400s because
A. the bus did not come.

B. he liked new clothes, food and cars.

C. he liked to do the same as other people.

D. he liked to be different from others.

2. He drove to work in his new car

A. the very next day.

B. the day he bought it.

C. a week he bought in.

D. on the day he first watched the cars passing.
3. He was satisfied with his new car because

no one else had a yellow one.

it was the same as other cars all around him.

he was in front of all the other cars.
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other cars were not as bright as his.

4. At five o'clock Mr Perkin
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walked home.

drove his car out of the car-park.
came back to the car-park.

did not know which was his car-park.

People gave him a look because

. he had a nice new car.

he could not open the door of his car.

he was in the wrong car-park.

. he was trying to open more than one car.

Mr Perkin had to wait until

there was only one yellow Beta 400s in the car-park.
there was only one car in the car-park.

there were no bright yellow cars in the car-park.

there was no one about to look at him.
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